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Dany _____in Riyadh when he was a little boy.
was used to live

used to lives

used to live

living

Now | speak English.
be able

be use

used to

can

We need some to repair window.
a glass

glass

an glass

few glass

Salah at 10.30 PM.
sleeped

sleep

sleeps

sleeping

Could you me your fancy pen please®
gave

let

lend

borrow

You do play with us, If you do not want to.
not to

not have to

not must to

not would

Thesun ____ inthe west.
is setting

sets

setting

set
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0.

. We

2.

3.

4.

We can't offered to
visit

visits

visiting

visited

When you go to Banda Store,

don't
does not
not

isn't

You ___ my father.
Remind me at
Remind me from
Remind me on
Remind me of

a new establishment.
are buying

buy

buyed

byus

When
have
do

is
does

| am going to
colleges
college

a college

an college

London. We have little money.

forget to buy a bar of Galaxy.

Tom usually come to work?

| was playing football. While Ted was.

garden
gardened
gardening
gardens
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6.

7.

8.

9.

0.

. There any house for rent nearby.

aren’t
are
isn’t
is

There is bread left in the carton.
an

a

few

a little

There some food left In the refrigerator
is

any

are

few

| Study well for the exam.
have not

did not

do not

does not

it is hot, |1 will go to Abha tomorrow.
Unless
Therefore
What
So that

I do not see Sami, He here today.
must not be

must be not

must not to be

must to be not

. How people were at the museum?

much
a little
little

many
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3.

4,

5.

6.

7.

8.

. The gentleman be my uncle . He is dead

could
may not
couldn't
might

Nooris ____ good student.
a

an

any

some

We live in

an Saudi Arabia

The Kingdom of Saudi Arabia
The Saudi

The Saudi Arabia

Mohammed a Mercedes car.
drives

driving

drive

drived

Norah as an executive manager.
work

working

works

worked

After Hassan the driving test, he bought a bicycle.
was failed

was failing

failing

failed

I can't go to the bowling because | have money.
only a few

only

few

only a little
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0.

2.

3.

4.

5.

. Salah me to invite me for his wedding.

were calling
called

will calls
calls

Maya is going to view apartment this morning.
an

some

a

any

Golden Gate Bridge in San Francisco.
some
An
A
The

Please ____ your assignment before you give it to me.
look under

look on

look over

look

He the conference in Miami.
attend

attended

was attended

attending

Ahmed wentto USA ___ he could pursue his studies.
as a result

o)

because

however

| am so sick. | go to see a doctor.
have to

would to

must to

has to
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7.

8.

9.

0.

2.

. You

have to
must not
must

don't have to

When you
travels
will travel
travel
travelling

do your assignment now, if you want, you can do it later.

to Malaysia, you should see mountains.

Sami have a nice car?

Does
Do
When

Is sad?

he ever
you ever
ever |

ever you

Mayl_____ yousweater?

let
borrow
gave
lend

. How long

able to
should
would like
rather

They are _
bring up
brought up
bringing up
brings up

it take to get Alforsan Mall?

their kids very well.
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4.

5.

6.

7.

8.

9.

. There any bridges across the northern rivers.

is
isn't
are
aren't

Heis to the Radio right now
listening

listen

listens

listened

I do not drive my car intotown ____ the weather is bad.
but

so that

if not

unless

Mubarak and Faizah their parents.
loved

loving

love

loves

| complete my project next semester.
will

are
am

The bank wouldn't give him account with free checking.

a
some
few
an

Sara ____to a new apartment.
is moving

move

were moving

moving




50. Although UAE is crowded in June, we haveto ____ then because we have summer
vacation.

A. go

goed

went

goes

OO0 w

(93]
[y

. We to travel around the world every year.
like
likes
liked
liking

O n®>E
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Muscat

Muscat, the ancient capital of __(1)__, is on a spectacular __(2)__. Thecity lies __(3)__a
narrow strip of land between the sparkling __(4)_ waters of the Arabian Gulf and the rocky
brown mountains behind it. Muscat is a __(5)_ combination of historic sites and modern
__(6)__. Tourists interested in history will __(7)__ at the splendid forts with their
watchtowers __(8)__ walled gateways. Those with an __(9)__ in contemporary architecture
will appreciate the simple lines of __(10) _ Sultan's __(11)__ but unpretentious palace.
Directly _ (12)__ to Muscat is the harbor of Muttrah with __(13)_ beautiful corniche and
busy _ (14)__ full of the sights and __(15)__ of this ancient bridge between the Middle East
and __(16)__.

1. (1)
A. Oman
B. Kuwait
C. Dubai
D. Riyadh
2. __(2)_
A. site

B. look
C. city

D. country
3. _(B)_
A. and

B. then
C. when
D. on

4. __(4)_
A. red

B. green
C. blue
D. yellow




OO ®WP»O® OONWP® UO®BEN OO®PBPO UOwW>W

=

oo ® >

0.

_(5)_
sad

wonderful
close
here

_(6)__
buildings
rocks
bridges
nice

_(7_
marvel

to

happy
talk

_(8)_

on
and
of
if

_9)_
business

office
fraction
interest

—(10)_
an

a
the
this




11. _ (11)__
unpleasant
bad

sad

ON >

lovely

Y

2. _(12)__
adjacent
far

very far

o0 W

under

Y

3. _(13)_
its

itis

it's

atis

o 0 w >

=

4. _(14)_
school
market
hospital

o 0w >

garage

=

5. _ (15)
hearing

sounds
noise

o 0w >

looking

=

6. __(16)__
Africa
Asia
America

o 0w >

Australia




Questions from 17 to 21 Chose the topic sentence:

17. The benefits of traveling

Traveling to other cities is easy

Traveling to other countries has many benefits
Traveling to other countries is good

o 0>

Traveling to other countries makes you happy

Y

8. The advantages of studying abroad

Students who study abroad often speak the language well.
Studying abroad has three main advantages.

| believe this for several reasons.

o0 >

There are many good schools in foreign countries.

Y

9. The benefits of living in a large city.
Living in a city is good

Life in a large city has many benefits
Large cities have many people

o 0w >

There are many cars in a large city.

20. The benefits of using public transpiration.
Using public transpiration is nice

A
B. Using public transpiration has benefits on the environments
C. Public transpiration is wonderful

D

Public transpiration is bad

21. The advantages of owning a small car
Small cars are nice

A

B. A smallcaris easy to drive

C. Small cars are better than large cars
D

. Owning a small car has three main benefits

Questions from 22 to 26 Match the following words to their Definitions
22. Spew

they

spill

thieve

o 0w >

is




o 0 ® >

N

O 0w >

N

o0 >

oo w >

Questions from 27 to 35 Chose the best tense.
27.

A.

RN

N

O 0N w>

4.

5.

8.

. Recover

find
don't
hasn't
doesn't

Scoop up
Pick up
She

they

I

Armored

having no protection

solved with great effort
comfortable to walk on
protected with strong metal

. Spilt

living
walking
tear open
drinking

I about this for a long time

has know
have Know
are knowing
is knowing

| about this since yesterday.

have been thinking
have thinking

are thinking

had thinking




was worked
is worked
have worked
has worked

. Has he ever

work
worked
working
works

have not written
has not written

A at many different restaurants, but the Starlight Diner is my favorite

in a restaurant?

A my homework yet.

having not written

had not written

. They

have been painti
has been paintin
have been paint
have painting

. She

has filling out
have been filling
has filling out

the house for a month, and they still aren't finished.
ng
g

her application for the last four hours.

out

has been filling out

have waiting

. Tom is always late. | for him many times.

has been waiting

has waited
have waited




35. 1 calligraphy for four years now.
A. has doing

B. has been doing

C. have been doing

D. have doing

Questions from 36 to 40 Combine the following two sentences (( using since)) .
36. Many people have lived in my neighborhood for years. It is a very friendly place.
. Since many people have lived in my neighborhood for years, it is a very friendly place.

A

B. Many people since have lived in my neighborhood for years, it is a very friendly place
C. Many people have lived in my neighborhood for years since it is a very friendly place
D

Many people have lived in my neighborhood for years, it is a very friendly place since.

37. My apartment is small. | have to keep it very neat.
Since my apartment is very small, | have to keep it very clean

A

B. My apartment is very small since. | have to keep it very clean
C. My since apartment is very small. | have to keep it very clean
D

My apartment is small. | have to keep it very neat since.

38. My cousin needed a roommate and is easy to get along with. | decided to move in with
him

A. My cousin since needed a roommate and is easy to get along with. | decided to move in
with him.

B. Since my cousin needed a roommate and is easy to get along with, | decided to move in
with him.

C. My cousin needed a roommate and is easy to get along with. Since | decided to move in
with him.

D. My cousin needed a since roommate and is easy to get along with. | decided to move in
with him.

39. It is easy to get to know everyone in my dormitory. Only 40 people live in it

Since it is easy to get to know everyone in my dormitory. Only since 40 people live in it.
It is easy to get to know everyone in my dormitory. Only 40 people live in it

Since only 40 people live in my dormitory, it is easy to get to know everyone in it

oo ® >

It is easy to get since to know everyone in my dormitory. Only 40 people live in it.




40. | have many relatives in the city. | decided not to live in a dormitory.

A. | have many relatives in the city. Since | decided not to live in a dormitory.
B. | have many since relatives in the city. | decided not to live in a dormitory.
C. I have since many relatives in the city. | decided not to live in a dormitory.
D. Since | have many relatives in the city, | decided not to live in a dormitory.

Questions from 41 to 45 Chose the best demonstrative.
41. __ cats are sleeping under the tree over there.
Those

This

That

These

O 0O wrE

=3

2. are the best days of our lives.
Those

This

That

These

o0 ®p

=3

3. students in the administration office were the best in our university
Those

This

That

These

O 0 w>»

44. When | was 15, | read a book about Sammy Sosa. ____ was the first time | thought
about becoming a professional baseball player.

A. Those

B. this

C. that

D. These

45. My classmates and | have gotten very close. _____ students have taught me that language
doesn’t have to be barrier to friendship.

A. Those

B. this
C. that
D. These




o ®
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7.

8.

9.

0.

. I have to pay my in order to register for next term

advantage
salary
tuition
location

You ____ speak to the driver when the bus is moving. It's dangerous.
mustn't

must

have to

don't have to

Which adjective describes things we can see?
colorful

smooth

salty

bitter

Which adjective describes things we can hear?
bright

noise

sour

soft

Which adjective describes things we can taste?
colorful

noise

Smooth

Spicy
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. Rashidwas ____ football player in the team.
A. tallest

B. the taller

C. the tallest

D. taller

. Speaking Chinese is ___ writing Chinese.
A. easy

B. easier than

C. the easiest

D. hardest than

. One of the following wards begins with a prefix:
A. unreasonable

B. play

C. write

D. read

. We add the suffix to the word ( individual ) to change it into a verb.
A. ation

B. cal

C. ize
D. ese

. The part speech of the word ( aggressively ) is :
A. Verb

B. Noun

C. Adverb

D. Adjective

. Arab students are known of their sagacity. They are really smart. What does ( sagacity
) probably mean?

A. sleepiness

B. wisdom

C. thoughtlessness

D. negligence




7. In Syria, there are fatalities and wounded people. What does “fatalities” mean?
A. winner
B. victims
C. those who are fat
D. teachers

8. When you travel around airports, one person will stop by and ask you (How
items of luggage do you have, Sir?)
A. Many
B. Much
C. Alotof
D. Number

9. Nowadays, people feel sorry as they don't have great ______ time to sit with their
friends and families.
A. Number Of
B. Deal of
C. Many
D. Much

10.How _____ piles of billions of dollars are spent, over there, on spaceship?
A. Many

some

much

O 0w

quite a few

11. isin the truck? my son.
who

what

whose

O 0N w>

how

12. is the key? on the desktop.
why

which

when

o0 ®p

where




13.

did you landed? At 11 o’clock
where
how far
how long

ON® >

when

Every second, one hectare of the world's rainforest is destroyed. That's equivalent to
two football fields. An area the size of New York City is lost every day. In a year, that
adds up to 31 million hectares more than the land area of Poland. This alarming rate of
destruction has serious consequences for the environment; scientists estimate, for
example, that 137 species of plant, insect or animal become extinct every day due to
logging. In British Columbia, where, since 1990, thirteen rainforest valleys have been
clearcut, 142 species of salmon have already become extinct, and the habitats of grizzly
bears, wolves and many other creatures are threatened. Logging, however, provides
jobs, profits, taxes for the government and cheap products of all kinds for consumers, so
the government is reluctant to restrict or control it.

Much of Canada's forestry production goes towards making pulp and paper. According
to the Canadian Pulp and Paper Association, Canada supplies 34% of the world's wood
pulp and 49% of its newsprint paper. If these paper products could be produced in some
other way, Canadian forests could be preserved. Recently, a possible alternative way of
producing paper has been suggested by agriculturalists and environmentalists: a plant
called hemp.

Hemp has been cultivated by many cultures for thousands of years. It produces fiber
which can be made into paper, fuel, oils, textiles, food, and rope. For centuries, it was
essential to the economies of many countries because it was used to make the ropes
and cables used on sailing ships; colonial expansion and the establishment of a
worldwide trading network would not have been feasible without hemp. Nowadays,
ships' cables are usually made from wire or synthetic fibers, but scientists are now
suggesting that the cultivation of hemp should be revived for the production of paper
and pulp. According to its proponents, four times as much paper can be produced from
land using hemp rather than trees, and many environmentalists believe that the
largescale cultivation of hemp could reduce the pressure on Canada's forests.

14.The main idea of paragraph one is:

A. Scientists are worried about New York City
B. Logging is destroying the rainforests

C. Governments make money from logging
D. Salmon are an endangered species




15.How many species of salmon have become extent in BC?
A. 27

B. 31

C. 137

D. 142

16.The main idea of paragraph two is:
A. Canadian forests are especially under threat
B. Hemp is a kind of plant
C. Canada is a major supplier of paper and pulp
D. Canada produces a lot of hemp

17.How much of the World’s newsprint paper is supplied by Canada?
A. 31%

B. 49%

C. 34%

D. 19%

18.What drug can be obtained from a relative of hemp?
A. Cocaine
B. heroin

C. Amphetamine
D. Marijuana

19.The underlined pronoun (it) in paragraph one refers to ...
A. logging
B. government
C. product
D. reluctant

20.The underlined pronoun (its) in paragraph two refers to ...
A. newsprint paper
B. World
C. Canadian Pulp and Paper Association
D. Canada




21.The underlined pronoun (it) in paragraph three refers to ...
A. paper
B. food
C. fiber
D. Hemp

22.When have 13 rainforest valley been clearcut
A. since the eighteenth century
B. since the nineteenth century
C. since the 20 century
D. since the 21 century

23.what does ( alternative way )
A. usual way
B. unusual way
C. normal way
D. unsafe way

24.How long does it take for 100 hectares of rainforest to be destroyed?
A. less than two minutes
B. about an hour
C. two hours
D. aday

25.Why is pulp and paper production important to Canada?
A. Canada needs to find a way to use all its spare wood.
B. Canada publishes a lot of newspapers and books.
C. Pulp and paper export is a major source of income for Canada.
D. none of the above is correct.

26.Who is suggesting that pulp and paper could be produced without cutting down trees
A. the logging industry
B. the government
C. the environmental lobby
D. none of the above is correct.




27.Why was the plant hemp essential to world Wide trade in the past?
A. Ships' ropes were made from it.
B. Hemp was a very profitable export.
C. Hemp was used as fuel for ships.
D. Hemp was used as food for sailors.

28.Why do agriculturalists think that hemp would be better for paper production than
trees?
A. Itis cheaper to grow hemp than to cut down trees.
B. More paper can be produced from the same area of land.
C. Hemp produces higher quality paper
D. none of the above is correct.

29."Every second, one hectare of the world's rainforest is destroyed. That's equivalent to
two football fields. What does "equivalent to" mean?
A. more than
B. less than
C. the same as
D. none of the above is correct.

30."In British Columbia, where, since 1990, thirteen rainforest valleys have been clearcut,
142 species of salmon have already become extinct." What does "clearcut" mean?
A. afew trees have been cut down
B. many trees have been cut down
C. all the trees have been cut down
D. none of the trees have been cut down

31."Logging, however, provides jobs, profits, taxes for the government and cheap
products of all kinds for consumers, so the government is reluctant to restrict or
control it." What does "reluctant" mean?
A. doesn't want to
B. is not allowed to
C. would like to
D. none is true




32."According to its proponents, four times as much paper can be produced from land
using hemp rather than trees." What does "proponents” mean?

A.

B.
C.
D.

people who are against something
people who support something
people in charge of something
none of the above is correct.

33.Many species of wildlife are becoming extinct,__ the rainforests are begin destroyed.

A.

o 0w

34.

o0 ®p

therefore
since
o)

. consequently

logging provides jobs and profits, the government is reluctant to control it.
So
Consequently
Due to
Since

35.Hemp can be used to make paper, it could reduce the need for logging.

A.

B.
C.
D.

therefore
o)

due to
because

36.Hemp was grown throughout history ___its versatility; it can be used to make
many different things.

A.

B.
C.
D.

because of
because
since

as a result

37.In Islam, education is compulsory. Every must learn reading and writing. What does

compulsory mean?

A.

B.
C.
D.

required

universal
available
everyone




38.The downtown shopping area is now a pedestrian zonein other words. anyone can
walk except cars. What does the word a pedestrian mean?
A. an area for cars
B. an area for kids only
C. an area for workers only
D. an area for walkers

39.The global economy crisis affects the entire world. What does the word entire mean?
A. Few
B. No one
C. All
D. Never

40.Palestinians should determine their present and future. No one else can decide that.
What does the word determine mean?
A. Make a guess
B. Make a decision
C. Repeat
D. Fly

41.When Sara was sick, her voice was almost inaudible. We couldn't hear what she was
trying to say clearly.
A. Very loud, easy to hear
B. Very soft, hard to hear
C. Very strong, uncommon
D. Very shy, introverted

42 .Each one of the students the core of the educational process.
A. is
B. are
C. were
D. sometimes

43.We change the meaning of word ( polite ) into its opposite by adding the prefix
A. Dis

B. In

C. Un

D. Im




44.To change the word ( thought ) into adjective form, we add the suffix
A. ful
B. ly
C. tion
D. al

45.The Sociolinguistics class was rescheduled. , everyone was depressed.
A. because
B. As
C. Since
D. So

46.The desserts tastes very well. , we ate too much.
A. as aresult
B. Because
C. while
D. When
47.We change the meaning of the word “possible” into its opposite by adding prefix:___:
A. im
B. in
C. Dis
D. Un

48. will you leave? Because/ | feel sick
how
what
why

oo ® >

when

49. class do you prefer? English one.
what

whose

which

who

oo ® >




50.did she say? — she would not Study tonight
A. how

who

which

. what

OO0 w

51. is your university? — It’s very good
how

how often

how far

O 0w >

how long

52. do Muslims pray a day? Five times
A. how far
B. how long
C. how often
D. when

53.The ____ place from Australia is Chile. It's on the other side of the World.
A. farther than
B. farthest
C. farther
D. farthest than

54.1 don’t think that your BMW car is my Mercedes.
A. faster
B. faster than
C. fastest than
D. fastest

55.We add the prefix ____ to the word ‘“regular’”’ to change it into its negative meaning.
A ir
B. ize
C. ation
D. cal




56. car is that? its Omar's.
who
which

whose

o ®

whom

57. does it take you to land? 13 hours
A. how often
B. how long

@)

how far

o

how

58. is the Mall from your house? 17 Kms
how

how often

how long

o0 >

how far

59.1 took some money from my bank account to buy some groceries. The | began to cook.

What does groceries probably mean?
A. some food

B. a bad dream

C. acigarette

D. a book

60.Some lasers are very treacherous, deadly. What does treacherous mean?
A. exciting
B. nice
C. dangerous
D. safe

61.Please stop gossiping! The exam has already started. What does gossiping probably
mean?
A. sleeping
B. talking
C. working
D. typing




62.Arab people are identical to all people around the world because we are all humans.
What does identical probably mean?
A. different
B. difficult
C. same
D. exactly the Opposite
63.Many Arab explorers stirred around the world. What does stirred probably mean?
A. Stopped moving
slept in the grass

B.
C. ate something
D. moved or traveled

64.The word “decisive” is
A. Averb
B. an adjective
C. anadverb
D. anoun

65.We change the meaning of the word “agreement”’ into its opposite by adding the
prefix...
A. un
B. in
C. im
D. Dis

66.If you suffer asthma, don’t go to Mexico City. It is one of the ____ cities in the world
A. polluter than
B. more polluted
C. pollute
D. most polluted

67.The first adventurers to come to Canada were astonished by itsvast
A. wilding
B. wildly
C. wilderness
D. none of the above




68.The moonis ___ the sun
A. smaller
B. smaller than
C. The smallest
D. The smaller

69.Babies can’t ingest hard foot because they have no teeth. What does the word ingest
probably mean?
A. eat
B. biggest
C. not engage
D. not reject

70.My manager promised to dispatch letters of admission very soon but | have not
received the letters yet. What does ‘dispatch” mean?
A. to travel
B. to send off
C. to work
D. to delete
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. The word “house” is considered as a
A. bound morpheme

B. functional morpheme

C. prefix

D. lexical morpheme

. The underline part in this sentence “ the student saw a ”’ considered as a
A. a noun phrase

B. a noun

C. averb phrase

D. an article

. The grammatical connection between two parts of a sentence, as connection
between a subject “ Cathy ”” and the form of a verb ““loves chocolate ”’ is known as
A. agreement

B. antecedent

C. agent

D. babbling

. A minimal unit of meaning or grammatical functionis a
A. homophone

B. metonymy

C. morpheme
D. collocation

. The initial sound in the words “shout’” and “child” are
A. voiceless dental

B. voiceless palatals

C. voiced bilabials

D. voiced stops

. the underline letters in the word “picture’ are pronounced as
A./]/

B. /t/

C. /s/

D. /tf/

. A combination of two vowel sounds is Known as
A. diphthongs

B. triphthongs

C. consonants

D. vowels




8. is a sound produced through the vocal constriction of airflow in the mouth
coda
syllable
consonant
vowel

Sowp»

9. is the study of how speech sounds are articulated.
A. Acoustic phonetics
B. Articulatory phonetics
C. Auditory phonetics
D. Phonetic alphabet

10. It allows language users to talk about things and events not present in the
immediate environment
A. Arbitrariness
B. Displacement
C. Cultural transmission
D. Productivity

11.The two words “ buy/purchase” are
A. prototypes
B. antonyms
C. synonyms
D. hyponyms

12.Which of the following words are considered as a minimal
A. found and fight
B. but and blue
C. site and side
D. calland role

13. is the word formation process in which a word from one language is
borrowed directly into another language.
A. Coinage
B. Blending
C. Borrowing
D. Compounding.

14.The underlined part in this sentence “ the lucky boys ”’ are described as
A. -y lexical and -s functional
B. -y inflectional and -s derivational
C. -y functional and -s lexical
D. -y derivational and -s inflectional




15.A set of bound morphemes used to show if a word singular, past tense or not, a
comparative or positive called
A. bound morphemes
B. derivational morphemes
C. inflectional morphemes
D. free morphemes

16.The initial sound of “ thin”’ and the final sound of “bath”
A. voiced velars
B. voiceless dentals
C. voiced alveolars
D. voiceless glottal

17.The underlined last letters in the word ““enough”
A. /tl/
B. /f/
C. /g/
D. /I/

18. is the process whereby a future of one sound become part of another
during speech production
A. Backformation
B. Conversion
C. Assimilation
D. Aspiration

19.The word “workroom” is an example for
A. Conversion
B. Compounding
C. Derivation
D

. Clipping

20. is relationship between words that tied together.
Presupposition

Collocation

Anaphora

Cohesion

o0 w»

21.The underline vowels of the both words “ bid”’ and “ woman”’ are described as




22.The combination of two separate forms to produce a single new word is also present
in the process called
A. clipping
B. derivation
C. prefixes
D. blending

23.The study of the history of a words is known as
A. etymology
B. borrowing
C. blending
D. coinage

24.  isthe process whereby a language is passed on from one generation to the next .
A. Cultural transmission
B. Arbitrariness
C. Displacement
D. Productivity

25.When two or more different (written) forms have the same pronunciation, they are
described as
A. polysems
B. metonyms
C. collocations
D. homophones

26. The process of describing the structure of phrases and sentences .
Grammar

Pragmatics

Semantics

Traditional analysis

oSnwP

27.Which of the these words has a derivational morpheme?
A. payment
B. spoken
C. tiger
D. laughing
28.The underlined part of the word “careless’ is known as
A. suffix
B. a free morpheme

C. a bound
D. an allomorph




29. are words or phrases used to indicate that we’re not really sure that what
we’re saying is sufficiently correct or complete.
A. Hyponyms
B. Implicatures
C. Deixis
D. Hedges

30.creating new expressions by manipulating their linguistic resources to describe new
objects and situations.
A. Cultural transmission
B. Arbitrariness
C. Displacement
D. Productivity

31.0ne of the following sound is a stop sound
A. /g/
B. /v/
C. /m/
D. /h/

32.The relationship between linguistic signs and objects in the world is described as
A. Cultural transmission
B. Arbitrariness
C. Displacement
D. Productivity

33.These sounds [b] and [p] are
A. labiodentals
B. nasals
C. bilabials
D. palatals

34. is the study of from or forms.
Syntax

Morphology

Etymology

Polysemy

oSN ®»

35.The underlined initial letters in the word “chemistry’’ are known as
A. [/
B. /tJ/
C. /k/
D. /d3/




36.A/an __is word such as “happy”’ or ““strange’”” --- noun to provide more
information.
A. Noun
B. Verb
C. Adjective
D. Adverb

37.Which of the following sounds is a glottal sound?
A. /r/
B. /i/
C. /l/
D. /h/

38. are new words formed from the initial letters of another words.
Suffixes

Synonyms

Acronyms

Infixes

o0 ®»

39. are two or more words with very closely related meanings.
Antonymy
Hyponymy
Prototypes
Synonymy

o0 ®»

40. is the study of the meaning of words, phrases and sentences.
Traditional analysis

Semantics

Grammar

Pragmatics

oSN ®»

41.The study of what speakers mean, or “speaker meaning,”
A. acquisition
B. discourse analysis
C. pragmatics
D. coherence

42.When the vocal cords (vocal folds) are spread apart, the air from the lungs passes
between them unimpeded. Sounds produced are known as
A. Syllables
B. voiceless
C. voiced
D. rhyme




43. s the study of the principles and processes by which sentences are constructed
in particular languages.
A. Co-operative principle
B. Semantics
C. Syntax
D. Discourse analysis

44. is the description of the systems and patterns of speech sounds in a
language.
A. An allophone
B. Phonology
C. A minimal pair
D. A phoneme

45, are two forms with opposite meanings .
A. Synonymy
B. Metonymy
C. Hyponymy
D. Antonymy

46.The three sets of words “bottle/water” , “car/wheels” and “king/crown’ are .
A. synonymy
B. hyponymy
C. antonymy
D. metonymy

47.The two words “vegetable/ carrot” are
A. polysemy
B. hyponymy
C. antonymy
D. synonymy

48.the underline initial letters in the word “sugar’ are pronounced as

A./[/
B. /g/
C. /s/
D. /tf/

49.When the vocal cords (vocal folds) are drawn together, the air from the lungs
repeatedly pushes them apart as it passes through. Sounds produced are known as :
A. Syllables
B. voiceless
C. voiced
D. rhyme




50.The two words “married/single” are
A. polysemy
B. hyponymy
C. antonymy
D. synonymy
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